MODEL ANSWERS 3 ﬁ | g\ g.m
. Fach item is allotted 6 marks except 4 and 5 each is allotted 5 marks. (Overlook copving mistakes

1. because plants are always in danger from animals which want to feed on them. (6.p)
2. by means of the sharp hairs on their leaves. (6.p)
3. Some acacia trees (6.p)
4. thorn (5.p)
5. trunk (5.p)
6. Animals will hurt themselves if they try to get to the water from these plants. (6.p)

7. The poison can be in the leaves, the seeds or berries, or in other parts of the plant.  (6.p)

1. Each item is allotted 6 marks. (8-11 Overlook copying mistakes. 12-13 Overlook grammar mistakes)

8.a.air (6.p)
9. b. die (6.p)
10._airtight (6.p)
11. vacuum (6.p)
12. very carefully planned (6.p)

13. work perfectly every second of every minute. (6.p)

1. Each item is allotted 6 marks. N.B. No.14 If the student writes (is) his answer rates 4 marks.
14. which / that (6.p) 15. about (6.p) 16. on (6.p)

1V. Each item is allotted 6 marks. (Overlook copying mistakes and capitalization

17. brought  (6.p)

18. mad (6.p)

19. dogs (6.p)

20. form (6.p)

V. Each item is allotted 8 marks. (Deduct 2 marks for wrong guestion word and 2 marks for arammar mistake).
21. How long did you have your computer? (8.p)
22. How much does it cost? (8.p)
23. Why do you use your computer? (8.p)
24. any suitable answer (8.p)
V1. Each item is allotted 8 marks.

25. Nests are often built at the top of trees. (8.p)
26. Camouflage protects sand gazelles from predators. (8.p)
27. 1 wish our city did collect/ collected rubbish often enough (8.p)

28. I wish he didn’t/wouldn’t/ spend many hours talking on the phone. (8.p)
VII. Each item is allotted 7 marks. Deduct 4 marks if 29 (past simple).

29. any past tense (7.p)

30. I was a child // we met at school .....  (7.p)

VIII. Each item is allotted 6 marks. (Overlook copying mistakes)
31. can't be (6.p)

32. so that (6.p)

33. majority (6.p)

IX- _Each correct answer is allotted 6 marks.

34. had died / were dying/died (6.p)

35. had switched (6.p)

36. have been working/ have worked/ are working (6.p)

X-The statement is divided into two units. Each unit is allotted 5 mark. Each unit is treated separately.
37. 33 ganall Aabiall s sy o) (S Y aliia W) Gll) e g dala (5585 i gaall (o 5all JS (10.p)

(52 s25al) Aalisall sy Lelaa Sy ¥ Aplalia V) adadl) ()6 ll3 g Aala () 5all araz)
The statement is divided into two units. Each unit is allotted 4 marks. Each unit is treated separately.
38. Everything was going very well until they came up against /faced / an unexpected problem. (8.p)

39. Staying healthy is one of the most important issues in the 21* century. Actually, the problem is made worse
by the fact that there are few public places in my town where people can go to keep fit. The government should
think of ways to solve this problem like building more sport clubs and allocating more land for parks so that
people can find better places to do exercises and go walking or jogging to keep fit and stay healthy.



